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Examination October 2020

B.A. F.Y. (Sem-l)

1348 Economics - Il (Compulsory) (Indian Economy)

Time: One Hour

Instructions

Solve any 25 questions from Q.1 to Q.30

1 What is the general meaning of disguised (hidden) unemployment?

W~ SIS =T AT 373 & &rar?
(A)Most people are unemployed (B)Alternative jobs are not available
I WA IS SarT TEATET TS ITee et

2 How is weekly unemployment measured?

AT e AT AT9T e dhed ST 2

(C)The marginal productivity of

workers is zero

ST ST SoTEhar I 39T

(A)Number of persons not employed (B)The number of persons who did not (C)Persons who did not get full

for one hour in a survey week receive most of the paid

TTETIT AT UFar AT e employment during the survey

ST T ST S AT week
HAAT TG TG AT 465 T
T AT ST S FA AT ST

3 who was the chairman of the first planning commission of India?
AT TieeaT AT G ST F07 &l ?

(A)Dr Babasaheb Ambedkar (B)pandit Jawaharlal Nehru
SFeT EERT AGSHT 9T SaETETT 8w

employment during the survey
week

HTAT AT =T ST

(C)Dr Rajendra Prasad
EECARE R EIC

4 Find out the causes of structural unemployment in India from the options given below

FTAT TATATTT HIATA T SYFATcHE AT 9T Feor IrHT?

(A)Unemployment growth (B)Increase in labor force class
F TR TET HHITFAT T a8

5 What are the reasons for semi-employment in India?
AT 3T TSI 0T AT ?

(A)Special qualifications and (B)Involuntary part-time work.
professional skills required safegs Ads F7T
ey qraraT s sraartrE
T ST

Max. Marks: 25

(D)Labour productivity is low

FTHFET IeEHAT FUT 2T

(D)AIl of the above numbers

e qe

(D)none of above

i

(C)Improper education and technology (D)AIl of the above

S fararor & A

(C)Overpayment of labour

TYSTIAT ST Yo

ERERES

(D)AII of the above
T T

6 What is the basis of Human Development Index formulas for measuring average growth in fundamental human capabilities?

T ATAT &TA AT FETel A0 aTE AITUaTaTe ATar [a Re e T A1 #0r?

(A)Indicators of longevity (B)Acquisition of education

g R Feraror s

(C)Level of income
JCTHET =T

7 Which of the following criteria are considered from the point of view of relative poverty?

ATTET TRAT=AT g ST AT & FVTaT HeT (=TT ST S ?
(A)Per capita consumption expenditure(B)Nutritious diet value

TR TN & T A T

8 The Human Development Index measures this average

A4 e FEwiien &7 @reiler Sy J9ms /19 Si7ar ?)

(D)The standard of living
GreAT TR HTEET &

(C)Income distribution among different (D)Income leve

groups

fafarer Tt wrfiet 3= faaeor

FET—TET qTeesl

RIEETEIE)

(D)Seasonal unemployment.

AT AT

(D)1990
9%°%0

(A)Long and healthy life (B)Contextual knowledge of adult (C)Percentage of the population above (D)none of above
e =Arfor AT s literacy the poverty
9 what is the Zero marginal productivity of workers?
(A)Technical unemployment. (B)Hidden unemployment (C)Semi-unemployment.
10 when has the integrated rural development programme started to reduce poverty?
ETFsr REAATATST U TTHTT (e =i S0 SO & J5 RTUdTe e ?
(A)1972 (B)1980 (C)1976
%8R 9%Te 9°.\9%
11 What is a mixed economy?
frer ereTaeT W i ?
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(A)Existence with public sector and  (B)Central Planning Commission and (C)Co-existence of mandatory and (D)AII of above

private sector District Level Planning instructional planning T g
ATTTHE & T | & I a8 T AT ST T fearei T AT T FaTcHE HATTAT T8
sfeTer RIEE Bl

12 Which of the following unit of the human development index is not mention while making it?
F|TCATATH FTAT Sdh AT (qa FE9Teh a3 ST (=TT Seer ST ATar 2
(A)Expected life span (B)adult education rate (C)relative poverty (D)standard of living
STYTErT ST J3T=T vte foraror av ey RS TTEWHTHTET &7
13 Which of the following factors is taken into consideration while calculating the Multidimensional Determination Index?

(A)Child mortality rate (B)Income (C)Property (D)Power supply
AT i HATAHAT ClEREC
14 According to the method of Tendulkar Committee for poverty calculation in 2011-12, the level of monthly per capita expenditure for rural

areas was decided as follows.

2011 -12 &S IIPET AISTUATATST Aoy, A=A TEA AT AT 738 @=T=r Tdes UTHTOT TS T |TeATel e S7auare e ?
(A)Rs.816-1000 (B)Rs.956-1100 (C)Rs 909-1104 (D)Rs 855-1160
©2% 73000 ? 4 9300 ?00 930 TYY T 9980

15 Considering the Rangarajan Committee's 2011-12 poverty figures

TS HEAr=AT 2011 12 T STRET=AT SEHSar o (= e ...
(A)The highest poverty is in the state (B)Manipur has the highest rate of (C)The lowest poverty is in Andaman (D)None of the above

of Chhattisgarh urban poverty. and Nicobar. Tl UeRAT ATEr
BERIGES F Eiry

16 Which of the following statements is untrue in underdeveloped countries?

AT BeAe T IT [TaE 0Ty (T ST a9 ST e =g ?

(A)Their per capita income is low (B)Their capital formation rate is low (C)Their real and potential natural (D)They have a lot of manpower that is
T ETErs Ioq—T ®HT 39 =T Trsae HNT 8¢ $9T 2194ar resource wealth is acquired not fully utilized
ST aTed s AT Sva-e TS IO : STA ATIA
ET
17 What is the year and subject of human development report?
AT (o erEaTer av T faver o ?
(A)2001 - Poverty Alleviation (B)2006- Energy, Poverty, and the (C)2008 - Human Dynamics and (D)2013 - Diversified Development
Q009 TET g2TT Global Crisis Development 2093 ferferaramyor faemer.

Q008 FAT ITRAT AT AT vaw Hae Qo0r, HHE TSI HATTOT faame
18 Which of the following statements about employment in India is correct?

ATEATT TSI ATad= @At 0T (e aeiay 1?2

(A)Recently, India's economic growth (B)The Eleventh Five Year Plan aims (C)Both the above statements are (D)both the above statement are
rate has been increasing but to create 58 million jobs correct wrong
employment has declined SAFRITSAT [T N ATA-TT 58 T FUIeT alwal (qu aoiaw e I ZI=aT e JaeT 3T
FEATRS AT AR 4T av aled Li RiFae S99 8
AT I TSI HAT AT A

19 Which of the following concepts was formulated by National Sample Survey?

FTATATR F AT Heheo Tl TS 1 THAT TR 1T T=el ITer ?

(A)General unemployment situation.  (B)Current daily unemployment status. (C)Current weekly unemployment (D)General monthly unemployment
AT T TRierar FTH THE TR (AT status. status
FAHTT AraTtad g (erar TSN AT T ferar

20 What are the three basic components of Human Development Index?

(A)Life expectancy at birth, adult (B)Expenditure on health, education (C)Poverty population, population (D)Average life expectancy, adult
literacy rate, gross education and environment. above the poverty line and literacy rate and national income
enroliment rate and per capita ATy, fereror Sfor qEtavuader @ residential population. LT AGHTT, ATEdT & AT
national product. TR AR AT AT e TS Feq=T
&I &7, T [STaTo §a9r &% SArfor
ATEE TS IoTaA

21 In which of the following departments do more children work?
TCATCA TR FIITCAT & ST Hol A0 T ?
(A)Agriculture (B)Construction (C)Trade and restaurants (D)Production area

I T T 10T SRR FeqTET &
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22 In which year has the TRYSEM scheme program be started ?
TTHTIT JEHAT FH SIS T 9TeT0T (FTHERT) AT el g% RUara Al ?
(A)1977 (B)1979 (C)1981 (D)1986
9°%.\9\9 LA AN %5 9°T%
23 According to Human Development Report 2010, what was the ranking of India in the world?
AT e srEarer 2010 THW AT faamar=ar Ao STTfad sheam mrear {IarsET o Hidid qnrdr?
(A)119 (B)115 (C)132 (D)134
2% 2% 23 93¢
24 Unemployment includes all people who are ___

VAT SERTUET 2011 TAT HEATTe ST IT5HTe AT el Sedr dard &HT ardr?

(A)Willing to work but | can't get a job. (B)Having ability to work but not (C)Removed from work temporarily or (D)Not willing to work because they
AT getting work. permanently due to work limitations ~ don't want to work
SEUTEA TSI TTar At

25 which famous economist said these lines country is poor because he is poor
? 9T I 3Ty 0T AT e 38 &7 (= foredr erasarHr qrsdr?

(A)Amrty Sen (B)Professor Burks (C)Adam Smith (D)Schumpeter.

26 According to the poverty line of Tendulkar Committee in 2009-10, what percentage of the following people were below the poverty line?
2009 10 7 dgedy HFGT=aT aTRET 1Y THI ATeT AT Bl edd didh aTRaa STl ai ?

(A)350 million 29.8% (B)400 million 30.1% (C)300 million 27.3% (D)450 million 34.2%
3Y0 TIAE 2.5 % ¢ 0o TIAET 30.9% 300 TIALT 29.3% “Y o TIALT 3¢ .2%
27 An underdeveloped country is a country which lacks capital in comparison to its population and natural resources. Which expert defined an

underdeveloped country?

ST T8 97 FEUST ST ST AR EeAT  AG T ST Jr=AT qei-id MISae=T S ddT S S TaaRd S9=T & SATeAT HTCAT a3 JiSel?
(A)Jacob Weiner (B)Joseph Stibliz (C)Samuelson (D)Ragner Narks.

ST ATEAT SR S raaET HELAeH [T T

28 The rate of capital formation in 2011-12 was close to 35% of GDP. Below are the reasons for low capital formation in India. Identify the wrong reason
2011 12 T Wisaer AfFGT =1aY STSIr=ar 3Y. 2ad cAT=4T S5 81T @Telr MIdTd HisaeT AT &ET eI S0 Kol STed I S0 SAe@r?
(A)India's low income level (B)High savings rate (C)Medium market development (D)lgnorance and illiteracy
AT FHT IoT—T el STET A= & AT Taw faae ERICCRILE
29 What does it mean that the Gini index of "X" country went from 80 to 607
&7 * ZummaT T FEotia 80 g% 60 a7 ATAT =T 374 FH?

(A)Poverty rate in ‘X’ country has (B)The human index of country ‘X’ has (C)The economic inequality of the (D)Economic inequality is decreasing
increased. decreased country ‘X’ increases in X’ countries
&' T ATREEr AT dTeet 318 & TIET AT e oiieh Sl A8 & TMET A& STAar aed 38 &7 S9ITd AT STaHTar 9ed e,

30 According to UNDP's Human Development Report 2013, below are some comments. What is the wrong comment?
T U S 9T =47 2013 T AT ([GEHE AGATATTH. @TATA Far BT Refe T e Ja=T BT #rorar?

(A)Pakistan has more average years (B)Pakistan and Bangladesh have the (C)The Human Development Index of (D)Life expectancy is higher in
of education than India. same Human Development Index. India, Pakistan and Bangladesh are  Bangladesh than in India.

AT TR ST (o= TR AT aiTeT S9m=r e higher than the average Human VAT FTATS ST S TEeT
¥ ST AR T e Fewtian a1 Development Index of South Asia. HHTT AT A

VT JTEeaT SATIOr FiTeATa ST Fi=r

A faere Fewrre afarr srfear=ar

U A e Reutie & Tar

STET AT
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